
 
i.6

3 
 

e.
54

 

 
i.50 

 
e.50 

 295 

92R - 01 10390E13

90473e13

Pipe N°1109 - 
stainless steel
Cod.3015112201

N°2 Short helical spring
tensile
Cod.303949001

Allen screw
M5x35
Cod.

N°2 Knurled collar 
screw M8X16 T.E.
Cod.206008

Silencer bracket -
stainless steel
Purch.Cod.206346
Prod.Cod.3015112501

N°4 Knurled collar 
screw M6X16 T.E.
Cod.204985

N°2 Graphyte 
Gasket
Cod.204980

Inferierior silencer
GP duals Øi 50 LEFT
Cod.3015100484

Superior silencer
GP duals Øi 50 LEFT
Cod.3015100483

Aluminium spacer
Cod.206348

Plain Washer
Ø5x15
Cod.200401

Strap-in stainless
steel Ø65
Cod.300065530

Silencer bracket -
stainless steel
Purch.Cod.206337
Prod.Cod.3015101501

 
10

4 

N°2 Db-Killer Ø25
303457803

Carbon cover
Cod.

2 Gasket  14x4.9x1.5
Cod.200371

2 Plain washer
5x15 Inox
Cod.406580

Allen screw
M5X12 T.B.E.I.
Cod.201031

Mounting plate M5
Cod.204555

Art. 15112

BMW  R NINE T      Slip-on "GP DUALS" -  APPROVED 


	Foglio1
	Vista del disegno12
	Vista del disegno13
	Vista del disegno14


